F70EERFEFRZ OBEHLNCFEEEK) EEHE

1. BERIE

REWR 47 i 47)
EEW% 45 fi (47) ( )V IZHEEEFORRIBEEADER
2. EBE/E
ShER 390 (380) | m
REBF| 925 (405) | =
BELZF| 145 (4.5) =1
BEER ([ VEBF 34 (830) | =
DELZF| 455 (31.0) | =
N E 186.5 (15900 | &
BRESR 576.5 (539.0) | &
3. ABE#HEUVIEGBIAE S
# AEBRBHERUEBHR 1452 | 2431 | 3% | 4451 | 54 | 645 | 7451 | 84% | &5
EA 18 7 #EE 18 #EH EA 1 2 13| 1 3132318
(15) (7 ¥ 15 #H) @M@ l@|@ | @] @G| |05
8 7 #EE 8 B ojof(O0(O0O]|7]0]1 0| 8
M (6) ( 3 #H 6 1EH) & OREOREOREOREHOREOREOREOREG)
~=1] 26 14 3% 26 &H ast] 1|23 [T [10[3[3]3][26
SR en| (10 BB 21 1R ) TR @|lel@ e | @] e ] e
4. AERUBBAESGEAR
15155
| m o A i A e N N
. 400m X EBH K3 6 1 30 =
RERF mal |Bm BA| 2 | 10 &
RELF 5000m HweE fx 3 60 =
1 B b ik m 100m |2 F HBAA| 6 30 =
PEBFB T mam | ME AW 8 & 10 &
LELFB 100mYH |EE®E =&| 8 fI 10 =
DEZFHE fafix mk REBE 3 fi 60 =
FEiK WHEBRBIZB [100mN\4754| BB X 3 7 iz 20 =
2 Kk . BRA EE-: 4 50 =
7>
Rk | ORRF T oupms e A EAR| 3 & 60 &
3 [/XIJ‘Jﬁ‘ ﬁk‘ﬂi%% HLAa0—vs R84 L5kek ;'i Eﬁjz E_l 2 ﬁ'z 70 Ilf_‘-_l\
WEBF  |su—zs1roekek| £ B OB F o fu 25 =
4 B & H REEF A1) FA B 4 1 fa 80 &
5 S DEBF — & 5 {i 175 =
DELZF — & 5 {i 15 =
6 g K B OBk BEBF — & 5 {i 320 &
71V 2kK—JL VELF — & 5 i 200 &=
HREBF [5om347)LE4| ;E B 1 # 6 1 30 =
8 SATILETE DEBF E—LEXRNL| W JIl # 18 8 10 =
PDEBF |E—L-Sqonag| B FE A 7 iz 20 =
9 4 v h — REEF — & 5 {i 200 &=
10 [INRA T ybkR— )L VEBF — & 5 {i 125 &
"MKy o5 VEBF FARTSA% | W ¥ i 3 5 {i 25 =
12 &l B BEBF — & 5 {i 125 =
13 T F & BELF i FE EA 5 {i 25 =
14| & ¥ & = BELF EHE & AR i 6.0 =
P 186.5
s I~ (159) =i
GHBE  XBMEA3005 +EKES 5(7525‘:’ 5
5. ZRNEMRVESEAR
ESSR
4 73
=52 IR iz SMER BRES GERR
ZZEH 4311 4 205 20 05 205 (20
AEK 47 61 (47 370 m (360)| 186.5 = (159)| 556.5 = (519)




